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— D177 NN YRR TR 27X N2
(Is not) like the nature of man who does not pay koifer

OVERVIEW

The 7N writes,' 7779 XY 777 7wR WA ([if] they pushed a pregnant woman and
she lost the children), so if 1OXR 77 8?1 (the woman did not die)), the rule is ww
w1y° (the perpetrator will be punished monetarily) and he will have to pay M7 °n1.
We derive” from this P10 that the obligation to pay is only if there is no 710KX;
however, if there i1s an NOX — the woman was killed; since the killer 1s 70 2700
(he receives capital punishment), there is no obligation to pay m7? *»7. This is
known as 7°1°'n 72772 7°% 2°P; ‘he receives an even greater punishment’.

The 7710 writes,” NP IR 797 WAPL° An72 7957, in which the 7N compares
damaging or killing an animal, to killing a person. The 7°pini °27 Xin derive® from
this p109 that just as by 7n72 791 you are always liable for payment, whether you
hit it aWw2 or 7112, etc., there is no difference; similarly when you kill a person,
which exempts you from monetary payments (as derived from NoX 1> X?7), there
is no difference as to how you killed the person, whether it was 322 or 7°123; in all
instances there are no monetary payments.

The 710 writes’ regarding a 77 MW which killed a person that 1ws1 11°75 101 (the
owner of the ox must give the redemption of his soul) 1%y w1 WK 935 (as much as
will be assessed upon him). This payment is called 1913. The &3 derives® from the
(extra) word V¥, that this 9913 is only upon the owner of the ox, but not on a
person who killed another person; he is exempt from 1912.

Our X713 states that MW is stricter than 27X, for by 27X n»Aw MW there is a 211
1913, however by an 27X N 2aw O7X there 1s no 71913 211, Our MO examines this
stringency in light of the above-mentioned.

nvoIn asks:
=37 NN NN INMD TUN 12 PNNY 139 NVYPN

The X" 29 asked; what stringency is this; that a 2w pays 1915 as opposed to an o7x?!

193,80 (0vown) nnw.
% [mawna] 2,0 mam>.
3 R2,72 (MAK) RPN
48,79 1p0.

25 X0 (2°uown) Mnw.
6%, Ph.
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= 11939 N2972 NPT DIPT DIVN 19191 NN DHYN PPNT INN

This rule that a person does not pay 21 is because of [7°1°% 73972 7% @%; he
receives a more severe punishment; he is put to death. There is no leniency for the person who
killed, compared to the owner of the 71, who pays 7912 (but is not killed).

nv0IN answers:
- sﬂ’iﬂh 27 NIDTNI 909 ) INIWVT XM

And the "2 answered; that if the killing was done inadvertently the killer is

still exempt from paying 7910, based on the teaching of 7527 927 Rin. Therefore
there is a X117 by 7w that the owner pays 1912; however if a person kills another person a2,
there is no 191, even though there is no death penalty.’

mooIn presents a dissenting opinion:
- 95391 na9Ta Y 0P DIVN V91 XYT DU NN XDI9 INDT PNHYY 13929 99IN)

And the 5'"1 says that the s'®"2" original question, is no question at all, for a

person is not Mwe from paying 1915 on account of »'2%p (but rather because we derive
it from the P09 of'! 19y NwY WK 933, as MdEIN will mention shortly'?) -

- Baspin 529 Xam 99917 T99W PN 9123 IND)
And it is also not applicable here by 1915 to mention the ruling of the %27 Nin
ST (since it is not a case of n"2%p).

mooin will explain how we know that the exemption from paying 17912 ([even] by 7) is not
because of n"2%p:
= DINRN DY XD PHYT NP IND INT YIWUN (3,2 97 72 P92 12PY4

For later in the second »2p it appears that if not for the 105 of "%, from which
we derive that 7912 is administered only ‘on him’ (the owner of the ox), but not on

a person who killed another person; if not for this 2105 of 1%y -
= 9919) NN M 2NNV NVUN DN 129D NN

We would derive the rule of a person who kills from the rule of an ox that kills;
that the person who kills would be 2917 the death penalty and 221> if he killed

7 See ‘Overview’.

¥ See ‘Overview’

? There is, however, a M3 penalty, which is (seemingly) more severe than 1213, Others answer that the T2 from
1910 applies even to those cases of AW where there is no m%3. See also ‘Thinking it over’ # 1.

' See footnote # 17 for one explanation why there is no »"2%p by 7912.

15 X0 (wown) Mnaw. See ‘Overview’.

"2 Therefore it is indeed a X9 that an 3077 07X is MWD from paying 191.

3 The " is making two statements: a) that »"2%p is not applicable to 7913 (even by a 7°1n), and b) that there is no
need for the 711 27 XN to teach us a 191> MWDo by W.
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7912, just as by the MW (and we would not say n"aop)" -

mooIn will now explain that we cannot say that the 11"27 Xin teaches us the 7912 75 by AW for it

is unnecessary (besides being inapplicable):15
= 9IUD 190 PRT NIVT RN ANVY ID2ONR N 2909 1oy

And from the word 1% we exempt the person from 1915 even if he killed axws,

similar to an ox; for there is no concept of 751 by an ox. An ox always kills'® xwa
and pays 191, and we excluded a person from 9913 in this same type of killing (which is aw2).

moon will now explain why indeed we do not derive from the 1170 that a person is exempt from
1915 (and why there is no »n"2%p by 1912):
- Yamn 20 nyva POVAY 19199 1290 MY 1DAN 90197 NYPIN Y27 NI

And the n''7n that exempts monetary payments even if the act of 7nn 2vn was
done a2 (he is not referring to a 71912 type payment, but rather) he means that he
is exempt from paying for the monetary damage that he caused while he did the

act for which he is liable for mn3 -
- (0w 8,75 97 Man3) T 1IN D93 WITTT 1NN CIPIOND)

And the 1"7n comes to excludes from the view of the one who interprets in P9p

MY Y9R the verse of wIv» w1y NOR 7°7° X, to mean -

- PPON PT NPITT WP XY PON 1°7® DN NN
But if there is an 17X he should not be punished monetarily; this 7" interprets
this literally; he is exempt from paying only specifically if the law of YOR (capital
punishment) is actually carried out. However, if it is a situation where there is no capital

punishment, for instance 22, then there is monetary payment. Therefore -
$WIY? N ANV ITION NIN WIY? XD PYON 127 RPIT IND 199NYN) NIPIN NN

2 comes to teach us that not only if there is a 7oK 197, is there no monetary

" If there is a 77 of n"2%p by 191, why is it necessary to derive DTX2 1912 MWD from %Y. One cannot say that 15y
teaches us the 0782 1912 MW by 3w, however by 77 we know that he is 115 on account of n"2%p; this cannot be,
for if he is MWD by 7 because of n"2%p, he will also be WD by AW on account of the 127 Rin. This proves that if
not for 1°7¥ there would be a 19121 in 21 and no »"2%p (as NvOIN will explain [see footnote # 17]).

'3 See 77 nman who discusses why it is necessary to negate the 1"7n since it is inapplicable anyway..

' See w"w1 who discusses this. See “Thinking it over’ # 2.

"7 moon is (seemingly) explaining why there is no n"29p by 1913. There is no »"2%p since both 2221 of 7n» and 7912
are a result of the same misdeed, namely the act of killing. n"2%p is applicable when there are two separate 0°2vn, for
instance in the case where a woman was pushed and killed and the child was aborted (or where someone burnt his
friend’s object on naw). The act of killing a woman (or N2w 217°1) requires a 70 penalty, and the act of aborting the
children (or destroying his friend’s object) requires a monetary payment. It is in this case where we apply »n"2%p and
exempt him from monetary payments. However, by 79131 in*n both 0°21n stem from the same act of killing this
person. See 121 X"w7in ,0"1n. See also 121 7K ,n"m for additional reasons. See ‘Thinking it over’ # 3.

'8 See ‘Thinking it over’ # 3 [in the bracketed area].
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punishment, but even if it was 3323, when there is no 10X 17, nevertheless he is

not punished monetarily. The rule of »"2%p is applicable, regardless whether the death penalty
is actually meted out, or not.

SUMMARY

The X"27 maintains that a person is M5 from 9913 on account of 7"2%p (and is MWD
even M2, on account of the n"n). The *"1 maintains that n"2%» does not apply to
9910, The Mo from 2913 is derived from the word 15y, which limits 9913 to a MW
and excludes 07X.

THINKING IT OVER
1. The X"2 answered that an 27X is MWD from 7912 even AAW2 (on account of the
n"1n)."” Seemingly, the "o from the "7 is also because of n"2%p! How is the
question answered?!*

2. mooIn states that there is no 7 by an ox.”' How do we know that a person is
79191 o if he killed 712? The 717°% from o787 Hv X1 1oy refers (seemingly) to a
aw killing (by an ox)!*

3. It appears that mooin alludes to the reason that »"2%p is not applicable by 7913,
when mentioning the 1"7n.>> Why does not moon offer this same explanation by a
case of T? [And what relevance is there in the concluding discussion® regarding
n"7n, to our MdLIN?!]

19 See footnote # 9.
2 See Ty >0

2 See footnote # 16.
22 See >0,

2 See footnote # 17.
* See footnote # 18.
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